Gamma Ray MD
(Scale: 5":100' (10'))

Company: CARRIZO OIL & GAS, Inc.
Well: STATE #16-11-9-60 H

Field: PAWNEE BUTTES

Well ID: 05-123-31642

Job Number: DR1010080-01-276

Location: NW 1/4 NW 1/4 SEC 16 - T9N - R60W 6th PM
Operator 1: M. Webster
Operator 2: C.A. Riney

Comment 1: 5" = 100" MD GR (api) vs ROP (fph)
Comment 2: Rig: Xtreme Drlg #15

Comment 3: LAT: 40.755031

Comment 4: LONG: -104.104749

State: CO
County: WELD
Country: USA

Elev KB: 5026.4
Elev DF: 5026.4
Elev GL: 5011.4

Comment 5:
Hole Data Casing Record

Size From To Size From To
17" Surface 65' 16" Surface 65'
13" 65' 1400' 9.625" 65' 1400'
9" 1400' 6659' 7" 1400' 6659’
6.125" 6659’ 11709'

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N N/A PGMO023 PGMO023

Cal Factor 4.77 3.15

Gamma Offset 43' 45'

Start Depth 5696' 6708’

Start Date 10-23-2010 10-27-2010

Start Time 18:30 18:30

End Depth 6708' 11709

End Date 10-26-2010 11-6-2010

End Time 1:30 11:00

33
=)
3]
A
0
<
<
NG
~
3 .
~: I
) L
[aly (
>; b
. k
) ¢
o5 M
N I
23] L
ol (
=3 :
2
o o
n O
- ™M
—_
)]
M fo—
NS A
/1
o T
o
3
mo —
= _
£ ©
5 38 o o o o o o o
o D S — Y D < rel
o T © ~ N N~ N N~ N~
o i [Ye) [T} [T} [Te) [To) [T} [Te)
| | _
o o _
o O
AN <
)]
=
o o
< < |
©
S
= l
Q]
o
o
o «




— —
= 5760 —
] |
K
= 2
= 5770 v
s {
e S
2 (
{ 5780 -
— N
S— {
5790 }
.
S
2
— 5800 <
—_— \/
5810 —
—
<
= <
—— =5820 T
i .
\
5830
!
S
Y
T _ b
= 5840 -
)
<
™~ D
- 5850 >
Y
( —
§ )
. 5860 —
— z
N J
> 5870 —
| S
¢ {
{ $
= 5880 —
( —
p
> ¢
5 5890 -
{ \
N—
e— 5900 =
¢ >
0
>
€ 5910 1
\ )
] N
( <
; 5920 ;
¢ )
N ¢
> €
€ 5930 >
{ 1
1 )
{ 2
£ 5940
l <
% AN
e >
X 5950 c
) 3
{ 1
2 — —
c 5960 =
| 2
| .
( =
N 5970 —
) g
(S 4

#4 MD:5758.0 TVD:5754.6 1:12.8 A:148.8 VS:-29.6

#5 MD:5802.0 TVD:5797.5 1:12.4 A:145.3 VS:-20.3

#6 MD:5846.0 TVD:5840.5 1:12.0 A:143.3 VS:-11.1

#7 MD:5889.0 TVD:5882.6 1:11.7 A:140.9 VS:-2.4

#8 MD:5934.0 TVD:5926.7 1:11.8 A:139.8 VS:6.7
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#9 MD:5979.0 TVD:5970.3 1:16.1 A:142.5 VS:17.4

#10 MD:6022.0 TVD:6011.2 1:20.0 A:143.2 VS:30.5

#11 MD:6066.0 TVD:6052.2 1:22.9 A:143.3 VS:46.4

#12 MD:6111.0 TVD:6093.1 1:26.3 A:143.4 VS:64.8

#13 MD:6155.0 TVD:6131.7 1:30.7 A:139.4 VS:85.6
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#14 MD:6199.0 TVD:6168.8 1:34.7 A:138.3 VS:109.2

#15 MD:6242.0 TVD:6203.3 1:38.4 A:135.7 VS:134.8

#16 MD:6288.0 TVD:6238.2 1:43.0 A:133.1 VS:164.8

#17 MD:6331.0 TVD:6268.5 1:47.4 A:130.6 VS:195.3

#18 MD:6376.0 TVD:6297.3 1:52.9 A:131.1 VS:229.8
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#19 MD:6420.0 TVD:6322.3 1:57.8 A:133.6 VS:265.9

#20 MD:6463.0 TVD:6343.8 1:62.2 A:135.3 VS:303.2
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#22 MD:6552.0 TVD:6381.4 1:68.6 A:136.6 VS:383.7

#23 MD:6597.0 TVD:6395.7 1:74.3 A:134.7 VS:426.3
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#24 MD:6643.0 TVD:6405.9 1:80.0 A:133.1 VS:471.1
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#28 MD:6847.0 TVD:6410.6 1:92.2 A:129.7 VS:674.4
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#29 MD:6891.0 TVD:6409.7 1:90.3 A:131.6 VS:718.3
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#31 MD:6981.0 TVD:6410.4 1:90.9 A:133.3 VS:808.3

#32 MD:7026.0 TVD:6408.9 1:93.0 A:133.0 VS:853.3

#33 MD:7071.0 TVD:6406.3 1:93.5 A:132.9 VS:898.2 |
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#43 MD:7518.0 TVD:6396.6 1:90.2 A:134.5 VS:1345.0

#44 MD:7562.0 TVD:6396.4 1:90.4 A:134.2 VS:1389.0

#45 MD:7607.0 TVD:6396.0 1:90.5 A:134.0 VS:1434.0

#46 MD:7651.0 TVD:6395.6 1:90.7 A:133.7 VS:1478.0

#47 MD:7694.0 TVD:6395.0 1:90.7 A:133.4 VS:1520.9

- — A\
J S
) p;
- 7
< 7520 -
/ ¢
|/ S
X
< 7530 -
< Z
\ N
“ S
< 7540 >
N ,
P N
2 <
¢ 7550 >
g b)
c <
{ -
x 7560 >,
{ (
)
/
) 7570 ¢
{ P
< r
> S
C
< 7580 ——
< J
¢ <
{ AN
< 7590 =
\ %
> [
N ¢
, 7600 \
>, {
e 7
S —~
- 7610 .
) C
( ~
\ ——
< 7620 =
u (’
7630 £
{
\\
7640 <
X
¢ |
N :
> 7650 -
S N
/
D {
. 7660 -
) <
) >
( >
| 7670
/ 1
{ >
2 C
- 7680 r
D ya
/
7690
M| 7/
(
\ X
7700 -
7
<
5 —
v 7710 -
( ~
J <
¢ >
; 7720 -
§ S
¢ <
\ >
) —— J




1

119V

] \—"\_/\\

7740

7750

7760

//_

7770

~
/
|~

7780

7790

/1N

N/

7800

/‘\_.—\

7810

7820

l—\
/—\\/ A N

7830

\\/

R

7840

\

7850

7860

\\/ Gn \\/__/

7870

7880

/ T\

7890

7900

7910

7920

V

7930

7940

#48 MD:7739.0 TVD:6394.4 1:91.0 A:133.2 VS:1565.9

#49 MD:7784.0 TVD:6393.5 1:91.2 A:132.7 VS:1610.9

#50 MD:7827.0 TVD:6392.6 1:91.3 A:132.5 VS:1653.9

#51 MD:7870.0 TVD:6391.6 1:91.3 A:132.4 VS:1696.9

#52 MD:7915.0 TVD:6390.6 1:91.1 A:132.2 VS:1741.9




I8 7950 <
\
ﬁ> P
7960 -
\ <
) S
4 i
7970 —
fl =
=
=
7980 —
3 -
{_.,
7990
: 3
> 8000 ‘
e © )
S //
[
i
- 8010 !
/ /
/ \
o =
( 8020 —
—~ D—
> -
) /
: 8030 <
! <
¢ ¢
P o J
< 8040 =
: 3
) g
7 8050 =
N (
/ \
) -
? 8060 =
) S
J =
C —
5 8070 —
7
J ~N
) -
N 8080 -<
> D)
\
. 8090 <
J 7
¢ {
Q {
< 8100 7
I ___/
p: e
> ~—
< 8110 e
) S
2 =
< 8120 —_—
< —
N T~
: —
s 8130 2
[ e
/ \
/ <]
+ 8140 —
J _—
7 /
7 \
4 8150 —
( —
_
=
8160 - —
I = —
N —
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#58 MD:8187.0 TVD:6386.3 1:90.4 A:133.3 VS:2013.8
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